DATE FERIOD

skills Practice =~
Applying Systems of Linear Equations

Determine the best method to solve each system of equations.
Then solve the system.

1.5¢+ 3y = 16 2.3x 5y =7
3x—by=-4 . 2x + by = 13 v
L %>
(2,2) RN CN
3.y=38x—24 4, —11x— 10y = 17
by —y =38 Bx — Ty = 50
S (5}““5}
S.4x +y=24 6.6x -y = —145
by —y =12 x =4 -2y

4,3 (12,3)

7. VEGETABLE STAND A roadside vegetable stand sells pumpkins for $5 each and
~ squashes for $3 each. One day they sold 6 more squash than pumpkins, and their sales
totaled $98. Write and solve a system of equations to find how many pumpkins and

squash they sold? P )
5 P ‘%’ﬁ)ﬁ, e S cA o Q Mm%ﬁ o }/LQ
Pyle= S Vo 54 mm W

8. INCOME Ramiro earns $20 per hour during the week and $30 per hour for overtime
on the weekends. One week Ramiro earned a total of $650. He worked 5 times as many
hours during the week as he did on the weekend, Write and solve a system of equations
to determine how how many h hours of overtzme Ramiro worked. on the weekend.

zowj F 20V = (05 5 hous of overhig
NYES o e wieedtend

9. BASKETBALL Anya malkes 14 baskets during her game. Some of these baskets were
worth 2-points and others were worth 3-points, In total, she scored 30 points. Write and
solve a system of equations to find how 2-points baskets she made.

2w+ =30 S pakeets
\ 2 - | N £ é"r-’g .F.,,.«x""
WA h= 14 |
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=X - }47( Applying Systems of Linear Equations

Determine the best method to solve each system of equations. Then solve the

system.,

1.15x-19y=-29 2.1.2x - 0.8y = —6 3. 18x ~16y = <312
x—09y =45 4.8x + 2.4y =60 T8x —16y = 408
(1% @5} (5,15) (12,33)

4, 1x + Ty = 217 B.x=3.6y + 0.7 6.5.3% — 4y = 43.5
14x + 3y = 189 C Zx+ 02y = 384 x+Ty="1T8

(12,%) (1%,4,5) (15 9

7. BOOKS A library contains 2000 books. There are 3 times as many non-fiction books as
fiction books. Write and solve a system of equations to determine the number of non-
fiction and fiction books.

Lan=2000 Bhon %t:ni?‘}
n= f% ‘ VYo e

S. SCHOOL CLUBS The chess club has 16 members and gains a new member every
month. The film club has 4 members and gains 4 new members every month. Write and
solve a system of equations to find when the number of members in both clubs will be

equal. C - ‘/L@")I‘ '8 Q(i{)yf SAAt 4 ﬁs@
C; “, L«:ﬁ +Hm

9, Tia and Ken each sold snack bars and magazine

subscriptions for a school fund-raiser, as shown in the table. [
Tia earned $132 and Ken earned $190, snackbars | 16 | 20
magazine
. b 4 6
subscriptions

a. Define variable and formulate a system of linear equation from this situation.

b= COSY oh Shadk ol ok & Hon = 13%
= LYY oy MRQAE- Zpp (o = 19D

b. What was the price per snack bar? Determine the reasonableness of your solution.

(oSt o SpOLK A 1= P

4G {easmmakls,
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Directions Solve each problem. Be sure to:

Name Date

Lireled g%ukag NS Cﬁﬂtfﬂ

Writing & Solving Systems of Equations Quiz

1. Identify the two variables in each situation
2. Write the system of equations
3. Show your work

: _ . " MATH IS FUN!
@The Browns scored 13 more points than the Saints. The total of
thelr scores was 47. How many points did each team score? '

o= A %E} Browns Stored. 30 ) M"ﬁ
%f - . - -
\ﬁ;) Y€ e L Sy Slored. T poInds

2. A company produces te!ephones at the rate of 600 per day. A customer survey
indicates that the demand for phones with built in answering machines is twice
as great as the demand for phones without the machines. If you are deciding
the production quota for the day, how many phones with answering machines
would you schedule for production? How many without answerlng machines
would you make?

arah is the director of the Hoonah marching band. She must order 35 new
niforms for the band. There are usually five more girls than twice the number

of boys in the band. How many uniforms of each type should she order for the
band?

b%gzgé
0= A

4. Mary’s children decide to run a lemonade stand to earn some extra money. The
cost to start the business is $1,20 and each cup of lemonade costs 6 cents to
make. If lemonade sells for 1G cents a cup, how many cups must Mary s
children sell to make a profit?

@\t the “Great Hair Barber Shop” Nita and Joe do a total of 95 haircuts each
week. If Nita does 16 fewer than twice as many as Joe, how many haircuts
does each person do?

Y\%Jzé\ﬁ | Nye 99 oy oats
n 2y-to Joe' 2 Yaaur ols
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6. John has 6 puppies for sale and wants to advertise them in the Cleveland Plain
| Dealer. To advertise in the paper there is a flat or fixed rate for the first ten
| words of the ad and a fixed charge for each additional word. The cost of a 17-
1 word ad is $14.55. The cost for a 21-word ad is $17.15. What is the flat rate
for the first 10 words and the fixed charge for each additional word?

Fr oy
ey
T
£

| @’ou are planning a huge graduation party for your son. You decide to offer both
a beef and a chicken meal at the party. The chicken dish costs $5, and the beef

| dish cost $7. There will be 250 people at the party, and the total cost of the

: food is $1500. How many chicken meals will there be? How many beef meals

will there be?

5¢ Y D = 1900 129 Chuedeer
¢ ‘W 5; =0 \2.5 Mfz%

@aula needs to replace the floor in her family room since her cat peed in several
places. She wants to put down both vinyl flooring and carpet in the room. The
carpet she selected costs $2 per square foot. The vinyl floor covering costs $1
per square foot. She has $500 to spend on materials and must cover an area of
| 300 square feet. How much carpet and vinyl flooring will sh&:buy to meet her
requirements? \ , .
| 20 v =500 o pd 200 sg 44

C ANV = 300D ANV’ )L oD S g Ja

5

E

A salesperson at an electronics store is g:ven a-choice of two different .

ompensation plans. Plan A pays him a weekly salary of $250 plus a
commission of $25 for each stereo sold. Plan B offers no salary but pays $50
commission on each stereo sold. How many stereos must the salesperson sell
to make the same amount of money with both plans? Write-a-paragraph
answerifig thefoltowing-guestions~When is plan B the better plan? When is
plan A the better plan? Which plan would you select and why?

P2E0 - LES o AL SaMa [0 SHAMOS
P=6o0s

10. ABLE Trucking Company has a job moving 21 tons of sand. The company has
8 drivers in the company and 2 types of trucks. One type of truck can haul 5
tons of sand and the other type of truck can haul 3 tons. Insurance
requirements make it necessary for the trucks hauling 5 tons of gravel to have
two drivers in the cab during operation. Three ton trucks require only one
driver. Using all available drivers, how many trucks of each size will be
needed to move the sand in one trip? '
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Practice Form G

7 4 Applications of Linear Systems

Solve each word problem

uring a sale at the local department store, you buy three sweatshirts and
20 P s\ two pairs of sweatp.ants for $85.50. Later you retg_m to the same store and buy
B (Q three more sweatshirts and four more pairs of swéatpants for $123. What is the
QWi e 1) Blle _.sale price of each sweatshirt and each pau' of sweatpants?
Gt ‘?F}’% i ;,333 % .

‘:“52_52 s’;z %&,M%s”“h

he sum of two numbers is 27. The larger number is 3 more than the smaller
umber. What are the two numbers? -

SN P

K ,f‘f i , :
W e [ 6 g c \lj;l‘e plane at 520 feet is ascending at a rate of 40 feet per minute, while

NS SEES another plane at 3800 feet is descending at a rate of 120 feet per minute. How
long will it take the two planes to be at the same altitude?

“&L%zw - 4. Tle perimeter of a rectangle is 24 in, and its length is 3 times its width. What
L= 7\:?‘*/ e the length and the width of the rectangle? '
LW 0] s

ou are getting ready to move and have asked some friends to help. For lundh

Wz B ind Lf}ri}..‘“, [

| w.&.&.. i e

b D

2

&

T e

Jou buy the following sandwiches at the local deli for $30: six tuna sandwiches:,

(ﬂ e (o fj w A and six turkey sandwiches. Later at night, everyone is hungry again and you

Ly & 8% f31al)  buy four tuna sandwiches and eight turkey sandwiches for $30.60. What is the

| hanginy = e 57036 price of each sandwich?
| (= :‘%2 &

o m-™You have a cable plan that costs $39 2 month for a basic plan plus one movie channel.
Your friend has the same basic plan plus two movie channels for $45 50. What is the -
. basic plan charge that you both pay? .

IR AV

is the total number of adults and the total number of children attending?

a. Whatis a system of equations that you can use to solve this problem?

m\q\fm; ~;; 9
g b What methed-weuld-you-usetosolvethesystem? Why?—

ﬂb ot Z ‘5@ % 8. Acoin bank has 250 coins, dimes and quarters, worth $39 25. How many of
T EY fgg% ey g, 5 each type of coin are there?
155 CUW\@ 4 9, In 4 years, a mother will be 5 times as old as her daughter. At present, the
G4 M@sﬂ"w % mother is 9 times as old as the daughter How old are the mother and the
AW ‘ daughter today?

Prentice Hall Algebra 1 « Teaching Resources
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Practice Form G

6-5 .

Linear Inequalities

Graph each linear inequality.

3. 3x-y=6 8;*’*::%‘3# wr b
3x+2y>6 g\%ﬁ‘“’ 3 ; 6.
Y > "fj\a % “‘f\i
9.
at yepresents each graph.
10. 11.
{0, 5)
-8 i—4
f.L g o

12. You and some friends have $30. You want to order large
" pizzas (p) that are $9 each and drinks (d) that cost $1 each. Write and graph an inequality
that shows how many pizzas and drmks can you g g\g\r{g}

A - ok A

4 b P12
13. Tickets to a play cost $5 at the door and $4 in advance The theatre club wantsto raise at
* least $400 from the play. Write and graph an inequality for the number of tickets the
theatre club needs to sell. H-the-elub-sells.40 tickets in advancs, how many dotheyneed
ﬁe-se-ﬂ-%the—d@_&ﬁe@&a&hﬁhemgm g QW pel
Sd o & HoD ~

-w-ﬁm%wwamw
14, Mark is a student, and he can work for at most 20 hours a week.
He needs to earn at least $75 to cover his weekly expenses, His C}K RSN ﬁ,fz O
dog-walking job pays $5 per hour and his job as a car wash
attendant pays $4 per hour. Write a system of mequal'}es fﬁ%ﬂ t Lé %M *«f’}/ )
. . . o o o %ﬁw
model the situation, and graph the inequalities.

arg

Wi
mw@@wwﬁ

15.Britney wants to bake at most 10 loaves of bread for a bake sale Ste &\:w?ants to make
banana bread that sells for $1.25 each and nut bread that sells for $1.50 each and make
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5.6/ Practice
(7,5 Graphing Inequalities in Two Variables

Determine Which ordered pairs are part of the solution set for each inequality.

L3r+y>6 {48, \\\il)( _3)((3, -3

2y>x+3{\3\@(3 2), .3
3.3x - 2y < 5, {(4%4) 5}63‘%\3) ( 3@

Graph each 1nequahty.

LR
ELRE

77
4.2y —x < —4 5.2x — 2y =8 - 6.3>2-3  y% ,if
/ y A g, w7

L

° T

: Fii

) uh’l 2
- ——

Use a graph to solve each ineguality.

7.—*5536-—9 }{ ‘3' Tﬂ 86>.§.x+5 .

\

y v

{

§

;
T,

§

é

&

?

10. MOVING A moving van has an interior height of 7 feet (84 inches). You have boxes in
12 inch andi’i5 inch heights, and want to stack them as high as poss1b1e to fit. Write an
inequality that represents this situation. E Zp ;ﬁ,‘ 5 %L ,,,,, iﬁ .»m %jg%

11, BUDGETING Satchi found a used bookstore that sells pre-owned videos and CDs. Videos
cost $9 each, and CDs cost $7 each, Satchi can spend no more than $35.

a. Write an inequality that represents this situation. @ \f i%ﬂ ‘@@ ég”*’* ﬁ o

b. Does Satchi have enough money to buy 2 videos and 3 CDs? S{V} @
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Practice

I.{p Systems of Inequalities
Solve each system of inequalities by graphing,

2.yz2x+ 2
> 2% 4+ 3 .
4 A o-

J

l.y>x—2
y=sx

41-1

,ﬁ%k

y
el

7. FITNESS Diego started an exercise program in which each

week he works out at the gym between 4.5 and 6 hours and
walks between 9 and 12 miles.

a. Make a graph to show the number of hours Diego works
out at the gym and the number of miles he walks per
week.

b. List three possible combinations of working out and
Walklng that meet Diego’s goals.
O gy ipvales shS)! \raaley

E;_e» s, 'H’éiuﬁs%

8. SOUVENIRS Emily wants to buy turquoige stones on her
trip to New Mexico to give to at least 4 of her friends. The
gift shop sells stones for either $4 or $6 per stone. Emily has
no more than $30 to spend.

a. Make a gjraph showing the numbers of each price' of
stone Emily can purchase. Yy & {@;ﬁ ra 'M},“

XU 2y

b. List three possible solutions.
(42
L,gf‘:)

Chapter 6 k@# éﬂj) _ 88
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